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HTHT= (4397 :
HETICTRET 145911 @1 agd GIae] & qigq 3K 371 axed] @ 9Ici Hilarg :

(1)

(i)

(i1i)

(iv)

(v)
(vi)

(vit)

(viii)

I8 ¥¥7-97 giel GUS) ¥ [qwifd fFar mar 8 - wue &, &, W, " 3N F | 39
Fo7-77 4 ) @ Gear 13 & | @t 397 3 8

GUE & T J97 &1 1 T 5 7% 3id TG-ITIT THR & 97 &, T3P 97 2 37h] FT
g | I o7 & I 40 Vieg] @ 37fer 757 g7 F0ew |

GUE & 4 97 &I 6 & 8 T TY-IFTNT FFR & 97 8, A% J97 3 3Pl &
g | Y% Y97 HT I 80 Ieg] G 37ferk 787 BT FRT /

QU T F v &I 9 3N 10 FH-3709 FFR & 97 & | IJA% I 5 3Bl HT
8 | Y% 97 &7 I 120 Yieg] & 37fereh 787 511 T30 |

GUE T J97 &7 11 37K 12 FG-37ERT J97 &, I3 J97 4 3] HT & |

GUE & T F97 &7 13 TIHIA-3TRT & | T8 97 3 371 &7 & loraah &l 977 & —
13(%) 3lasra @ (1 37%) 797 13 (@) YT & (2 37%) |

Jv7-77 H GHY W HI3 1[99%cT 781 & | TG, FT Jv91 H aR® A 15T T
g | 08 3991 § @ &aer v g1 fasbeq &7 I o7few |

T %1 3774 ITR-JICiT & 19 T BT |/

Tue &
(3T eg-3wiig ued) (5x2=10)
1920 & Ygt fora™ it o fofu wgtemt Tieft & @ TcmuEl 1 3g@ i | 2
AR SR TE I ATH QU AT o ATHR IcAIeT HT T8l B TRl § ?
3T Afgd saTET hifve | 2
frefafaa aiferes =) afee 3t sees 9 few e gwt & s farfgu .
WRA 3 Aeaeh
. "t it
i wfe & se agd T
(feret) (feret) (feret)
I TS (1.676) 63,491 89,521 1,17,560
et Argd (1.000) 3,200 3,462 3,775
DI AT (0.762 AT 0.610) 1,751 1,752 1,901
el 68,442 94,735 1,23,236
(3.1) ¥Nd ¥ vgrel &= | fpm 79 Al Y Ses Aferehaq 8 2
(3.2) WA | form e hl @TE TATYH § 2 1
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(i)
(iv)
(v)
(vi)
(vii)

(viii)

This question paper comprises five sections — Sections A, B, C, D and E.
There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying
2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying
4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

Attach Map along with your answer-book.

SECTION A

(Very Short Answer Type Questions) (6x2=10)

Mention the two Satyagrahas of Mahatma Gandhi for the peasantry class
before 1920. 2

Why has the iron and steel industry not been able to perform to its full
potential ? Explain with example. 2

Read the following table and answer the questions that follow :

The Indian Railway network

Gauge in metres Route Running Total
(km) Track (km) | Track (km)
Broad Gauge (1.676) 63,491 89,521 1,17,560
Metre Gauge (1.000) 3,200 3,462 3,775
Narrow Gauge (0.762 and 0.610) 1,751 1,752 1,901
Total 68,442 94,735 1,23,236
(3.1) Which gauge covers maximum of track length in hilly areas in
India ? 1
(3.2) Which gauge has the highest length in India ? 1
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[kt

Teh AHSEIYU TR Sfiad ST i o foTg Arehd @l T Q1 21dl sl 90

T IMRT ? 3G hIFT | 2
39 feafa =1 feageiwor hifse S swor, RkoreRat =1 vl feafd 0 genaar & e
(e 95d BRI 21 3 | 2
Qs @
(Trg-3TT w9 ) (3x3=9)
(%) fTova SAUR "e 4 foshrEsiiad < o foTq g8 == hl W@ T | 3
areran
(@) wra # fageft wuf=i o fow & fau meita & & foie g 3t 7=
TLhRI g0 331U U SheH] ohl T8I <hIfvTT | 3
“Irag fora TuY & THIRU & T TEEAN eied 39 & T |7 e
) sarEdT 9 deRt 9 hifSu | 3
“Arehas sl 37U T TmeH 3cqd i hl AT T Teh NN & 8 3T 3Heh!
ICE T& h1 I Gehdl |7 3T R kT i 3Tl digd fageyor fifs | 3
Que T
(Srd-3wrig o) (2x5=10)
(%)  “fomawt i Arhditen sgaersti § ToHifdeh @ geeadt & T 8 |7
3TN Tigd I hl ST HIfT | Ix5=5
Srera

(@) “9na ¥ USHITde Tl i TFEd i o O s IR T 7T & qTleh o
3T HET Bl D g T K b |7 3CEON Afed AT hl AT

i | Ix5=5
(%) “Twar 3R gmed & FERA Hol ¥ b fIHE & forw Al EwTs 7 17
39 HAT h! FTEAT iU | Ix5=5
rera
(@) wRa # deni o fafim st = s Fif | Ix5=5
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Mention the two conditions that democracy must fulfil in order to achieve

a harmonious social life. 2

Analyse the situation in which credit pushes the borrower into a

situation from which recovery is painful. 2
SECTION B
(Short Answer Type Questions) (3x3=9)
(a) Examine the debate that took place in the World Trade
Organisation for the developing countries. 3
OR

(b) Examine the steps taken by the Central and State governments to
attract foreign companies to invest in India. 3

‘The Non-Cooperation Movement became wider with the integration of
the Awadh Peasants Struggle.” Explain the statement with three
arguments. 3

“Democracy’s ability to generate its own support is itself an outcome that

cannot be ignored.” Analyse the statement with three examples. 3
SECTION C
(Long Answer Type Questions) (2x5=10)
(a)  “Political parties have become omnipresent in democracies all over
the world.” Explain the statement with examples. Ix5=5
OR
(b)  “There are various reforms taken to strengthen parties in India so
that they perform their function well.” Explain the statement with
examples. Ix5=5
(a) “Cheap and affordable credit is crucial for the country’s
development.” Explain the statement. Ix5=5
OR
(b)  Explain various functions of banks in India. Ix5=5
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11.

12.
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Qus Y
(ha-TeTiE 99 ) (2x4=8)

= fou Tu S = eaHgde ufen 3R 35k i for T i % 3w fafe 4

TP a19 Tagag wune™ (NTPC) gt fe@man & /it

I ® TP a9 foegae SaeE foaga YeH i aren §ed M 7 |
THeh UTH YATSR0 YeEH qF (EMS) 14001 & fow 318 w311 (ISO) v
2 | 98 T TR{ae st SR HEeE S 9d, @S dd, 19 q
39 W fifd w1 fGadt 3 d°1 5% =W ° W@ & faga g Hi
TATHHT el B |
ten e U g Eve g
(%) SYIehad Tehiehl UL STYTNA IURUN T Fal IUAN hich
foreraT 3UhTeT § FUR Tk |
(@) ATUhRdH TG 1 FEATTA L TYRIE IGIAT T =T IcITEA T |
()  orfeufaeh dqe ST WEH % foT g & 1 gRen qen g
% fotu uft@ & |
("F) WA AURE Yded, TE-IH Ao YHeshUl al T@-9U8 (Ash
pond) FEH G TATEL0T JGHUT Shi HH LT |
() ot S T w1 wiifeafoeh w9 @ nifier qen grften e wa
SAATST RS hT YT T |
(11.1) ‘gqd 9o foehm’ i g i |
(11.2) AE.Td.37. (ISO) FHvH & Hs 1 fo=am 8 2

(11.3) TER a9 ToRId g HIIRIHA (NTPC) % |lshd 3EhI0 hl T T |

= fou Tu S @ eaHgde ufeu 3 35k Fiw for Tw g &% I fafau 4
AT STUHUA chl HISAT

@ AU ! I8 HIEAT SRk &9 H Tk ToU! o =Ia1d da1 g3 off |
§h JTATAT Sgd | "kl fshard ot off fer ST Tgane @
HouT IR feetifenm w a1 W o | sfag™ T Aifgcd, o %Al g Tid,
fomr 9 gdiep, Tt 3 TPATE I AR HE H AT ANTEH fT o |

S foh 29 IHd 8, TP Rl ugEH el sargr foRdt aueit O 2dfeha i
I B | 3 AT Sl Uh UHT Bf e § Hee fuerdt @ e Jiw g uy

! UgE Gohd & | Gl Tt § Uare & I & 91y Yrd sl ggae o
YT ATdT h1 B 1 €9 74 @ | 39 S o 0T 1 Y Sfhn =5

N N N
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SECTION D

(Case-based questions) (2x4=8)

Read the case given below carefully and answer the questions that follow :
National Thermal Power Corporation (NTPC) shows the way

NTPC is a major power providing corporation in India. It has ISO
certification for EMS (Environment Management System) 14001. The
corporation has a proactive approach for preserving the natural
environment and resources like water, oil, gas and fuels in places where
it is setting up power plants.

This has been possible through :

(a)  Optimum utilisation of equipment adopting latest techniques and
upgrading existing equipment.

(b)  Minimising waste generation by maximising ash utilisation.

(c) Providing green belts for nurturing ecological balance and

addressing the question of special purpose vehicles for
afforestation.

(d) Reducing environmental pollution through ash pond management,
ash water recycling system and liquid waste management.

(e)  Ecological monitoring, reviews and online database management
for all its power stations.

(11.1) Define the term ‘sustainable development’.

(11.2) What is the idea behind ISO certification ?

(11.3) Examine the proactive approach of National Thermal Power
Corporation (NTPC).

Read the case given below carefully and answer the questions that follow :
The Sense of Collective Belonging

This sense of collective belonging came partly through the experience of
united struggles. But there were also a variety of cultural processes
through which nationalism captured people’s imagination. History and
fiction, folklore and songs, popular prints and symbols, all played a part
in the making of nationalism.

The identity of the nation, as you know, is most often symbolised in a
figure or image. This helps create an image with which people can
identify the nation. It was in the twentieth century, with the growth of
nationalism, that the identity of India came to be visually associated
with the image of Bharat Mata. The image was first created by Bankim

=
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4
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13.

TEIEATd | TRAT AT | 1870 % Th H d-—S\H g A1 wGfa & w9 H
‘gre Ty’ T for@m on | 91 38 3R 3TN U 37F5E3 H AHA
o | 38 fa e # Teht STcieH H g™ R TR | TR e
S IO F gAY TR A 9Ra A@ran i faeara sfa @ b fea |
39 U H YRG 9T ol Ush GATGH] o ®9 § Sia1 T30 8§ | 98 30,
iz, et R srenfars i @ I @i Tt } | T ue o W9 3@
BT ol g2 I W G § IAR I o 3R fafie SR I8 d@edR
I o d YRa JraT i sfa fafay w9 ygw w1 39 wg ®fa &
gfd 21gT ! PTG | ATET T Tcfieh HHT ST T |

(12.1) T < o wieass | b g2q1ef o1 &9 Hd T B ? 1
(12.2) TFETE 3 A 6l Teqarett § &9 foram ? 1
(12.3) TafY TUEEl o @AM H AWfEeh 9T 1 9d fohd TR foehfdm
g3 ? 2
WIS T
(urteE-enaTi| ueT) (1+2=3)

() Teu U wwa o TSHifoe W-AERE (98 11 ), H FAfdaied e
H TEEar ¥ ‘A’ % ¥4 § TOfEd oW 6 ugeH HINT AR 3qh I
it T8 T@T W IR Gal A fiey |
A. T8 TIM @l SAfTFieTell ST gcarehis g3 A1 | 1
(i) feu U wRa & s W@rAERE | FEfafgd i sifed hifve 3t 396
T fafau |

(®) () o a9t a9 1
rera

(II) s TiFedR TaIarsl Teh 1

(@) RIcTehTal (FaTSi AN 9 9id) AqUE g8 Iod 1

FHETITRIT 97 @acT GIvaTaa qiemfefar & g o7 a7 13 & &7 |

&/ 3x1=3

(13.1) 39 USF o1 AW fARIY SET ST S0 gedehis 310 o1 | 1

(13.2) (%) 34 T o1 T forRau &t e e ot a3 e 7 1
rera

(@) 39 TsF 1 AW foifgu gl gag areeaat daiars ureh a8 | 1

(13.3) 39 TsA &1 M faRgu g shicteprar (AdTt GUTS dg o1F) TaUs™
FaTE U feud R | 1
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Chandra Chattopadhyay. In the 1870s he wrote ‘Vande Mataram’ as a
hymn to the motherland. Later it was included in his novel Anandamath
and widely sung during the Swadeshi movement in Bengal. Moved by
the Swadeshi movement, Abanindranath Tagore painted his famous
image of Bharat Mata. In this painting, Bharat Mata is portrayed as an
ascetic figure; she is calm, composed, divine and spiritual. In subsequent
years, the image of Bharat Mata acquired many different forms, as it
circulated in popular prints, and was painted by different artists.
Devotion to this mother figure came to be seen as evidence of one’s

nationalism.
(12.1) How did the ‘nation’ become a reality in the minds of people ? 1
(12.2) How did nationalism capture the people’s imagination ? 1
(12.3) How did people belonging to different groups develop a sense of
collective belonging ? 2
SECTION E
(Map-based question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information
and write its correct name on the line marked near it.

A. The place where Jallianwala Bagh massacre took place. 1
(i1))  On the same given map of India, locate and label the following :
(a) (D Singrauli Thermal Plant 1
OR
(I) Mumbai Software Technology Park 1
(b) Kolkata (Netaji Subhash Chandra Bose) International
Airport 1
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3
(13.1) Name the State where Jallianwala Bagh massacre took place. 1
(13.2) (a) Name the State where Singrauli Thermal Plant is located. 1
OR
(b)  Name the State where Mumbai Software Technology Park is
located. 1
(13.3) Name the State where Kolkata (Netaji Subhash Chandra Bose)
International Airport is located. 1
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For question no. 13
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